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— .1 Identify and briefly characterize the product life cycle. (10 %)

2. Discuss the two new product strategies of market-skimming and
market-penetration. Indicate when each strategy makes the most sense or when
each should be used as the primary pricing strategy. (15 %)

3. Companies must make decisions on how many marketing intermediaries to use at
any level of marketing distribution. Name and identify the three strategies that are
available with respect to number of marketing intermediaries. (15 4-)

4. Define and justify the need for integrated marketing communications. (10 %)
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B 40 $2056 $160
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T

Analysis of Variance
Source DF Sum of Mean F Value P Value
Square Square
Regression 2 40 40
Error 30 150 3
Total
(1)

SHTES I LB ANOVA % + I SBHZRRARNE - (8 5)
() B—ITERFEESDA 2 (45)
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Analysis of Variance

Source DF Sum of Mean F Value P Value
Square Square
Regression 2 40 40
Error 30 150 3
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According to the data of U.S. Energy Information Administration (EIA), the aver-
age oil production per day of top-10 countries in the period between January and
October 2010 is as follows. Answer the following questions. (25%)

-

Table 1
country million barrels per day
Russia 9.6
Saudi Arabia 8.4
United States 5.5
Iran 4.1
China 4.1
Canada. 2.6
Mexico 2.6
Nigeria 2.5
United Arab Emirates 2.4
Iraq 24

(a) Construct a stem and leaf display for the above oil production. (5%)

(b) Calculate the mean of Table 1. If the ratio of total top-10 oil production to
the world oil production is 60%, estimate the world oil production per day.

(10%)

(c) Utilize the data in Table 1 to construct a box-and-whiskers display (or box
plot). According to your box-and-whiskers display, are there outliers? Enu-
merate the country name(s) of outliers and explain. (10%)

\z0 , Utilizing the data of 15 countries in the European Union (EU) to run a linear
regression, the result is as follows (standard errors are in the parentheses).

o~

Y= 05 +093X
(1.232) (0.136)

where X represents each country’s GDP, expressed as a percentage of the total
GDP of the EU, Y is each country’s trade with the United States, expressed as a
percentage of the total trade of the EU with the United States.




(2) Explain the meaning of the slope of the above linear regression. (5%)

(b) If the value of X of a country in the EU is 10%, estimate this country’s share
of U.S. trade with the EU. (6%)

(c) Can you reject the null hypothesis that the slope is equal to 1 at 5 percent
significant level? (Use the table of ¢ distribution) (7%)

(d) Construct a 90 percent confidence interval for the estimated slope parameter.

(7%)

t distribution table (two-tail probabilities)

df 020 010 005 002 0.01
2 1.886 2.920 4.303 6.965 9.925
3 1.638 2.353 3.182 4.541 5.841
4 1.533 2132 2.776 3.747 4.604
5
6
7
8

1.476 2015 2.571 3.365 4.032

1.440 1.943 2.447 3.143 3.707

1415 1.895 2.365 2.998 3.499

1.397 1.860 2.306 2.896 3.355
9 1383 1.833 2262 2.821 3.250
10 1372 1.812 2.228 2.764 3.169
11 1363 1.796 2201 2.718 3.106
12 1356 1.782 2.179 2.681 3.055
13 1.350 1771 2.160 2.650 3.012
14 1.345 1761 2145 2.624 2.977
15 1.341 1753 2131 2.602 2.947
16 1.337 1.746 2.120 2.583 2.921
17 1333 1.740 2.110 2.567 2.898
18 1.330 1.734 2101 2.552 2.878
19 1.328 1.729 2.093 2.539 2.861
20 1325 1.725 2.086 2.528 2.845
21 1323 1.721 2.080 2518 2.831
22 1.321 1.717 2.074 2508 2.819

23 1319 1.714 2.060 2.500 2.807 X qa %
24 1318 1711 2064 2492 2.797 AR 723 ﬂ;l\
25 1.316 1.708 2.060 2.485 2.787 ﬂ @ P

26 1.315 1.706 2.056 2.479 2.779
27 1314 1703 2.052 2473 2.771
28 1313 1.701 2.048 2.467 2.763
29 1.311 1699 2045 2462 2.756
30 1.310 1.697 2.042 2457 2.750
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= - FHRHTFIEF0%)
(—) ~ Labor force
(=) ~ Market clearing
(=) ~ Purchasing-power parity
(79 ) ~ Tax multiplier
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B B MERE R E I BT ? BRELREY - (10%)

7N B RE S ERNREE - ALY " ZHIBVE | (price discrimination)
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| EEELRTERAMBEETY TIEEX B TIEEET (job design) FES
REZHEY BYY - SR TR AL (job enlargement ) HETEEEL (job
enrichment ) BYRHLAR W% 2 FEHIEE - (2545 » 25% )

2. TECREERERED » B8 (Fiedler) Y1 SIS, (contingency model ) »
SRR IR 1 TRELPIZT » (25 43 » 25%)

3R (330 4, 45 30%)
LARAERHAGMBAHRBRBYNERES (10 D)
2. REIAIENIHRE L (10 )
3ERBERAMM MO ERREA T A0 2)

4. FHA D (20%)
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